101 —~10"1
3 10 @10 3
= 8 F
o LW © T
N b -
© 1072
1072H
1073 i
10°%H
107 L
9 J..U;;_ 1 ! 1 . L1 910—%-
IS T : + g : T r
o N : + T o L
I %#mﬂ'ﬁ%* l e =
0.95 '71 ; : ; . . 95 '71
10 1 TPl[ZQT (PCA t%obeamliné[f) 10 1

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

- —~ 1
g 3
S S
c? =
ko)
(o] -
810 =
107}
1072
1072
1073
el 0103
3 5 M
e v 1:'
o.95§
0.0t :
1071 1

2 3
TPl[g)T (PCA f%)obeamlinép

107! 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


